
Compensation of
longitudinal chromatism



𝐷𝐷𝑀(1 − 2) ≠ 0 𝐷𝐷𝑀(1 − 2) ≈ 0
Lignes à retard dans l’air:

𝜎 𝑛 ≠ 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡𝑒



Correction with one glass
Correction of OPD H-R



Correction with one glass
Correction of OPD H-R

Bad contrast in 
short wavelength



Correction with one glass
Correction of dispersion in R-band



Correction with one glass
Correction of dispersion in R-band

Good contrast in 
science but low
contrast in tracking



Phase limited development
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SVD ? 

𝜎𝑋 𝜎 =  𝜎𝑋  𝜎 + 𝑥0 + 𝒃𝟏 ∙ 𝒙 𝑠 + 𝒃𝟐 ∙ 𝒙 𝑎2 𝜎 + 𝒃𝟑 ∙ 𝒙 𝑎3(𝜎) + ⋯




